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Ohms Law. 

Work Sheet 2A

Series calculations.

Determine the unknown value(s).
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Fill out this 

triangle now

Layout your workings on another page.
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Determine the Voltage Drop across each resistor and the Supply 
Voltage.
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Determine the supply Current and the Voltage Drop across 
the 3 Ohm resistor.
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Determine the supply Current and the Voltage Drop across 
the 37 & 25 Ohm resistors.
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Ohms Law. 

Work Sheet 2B

Series calculations.

Determine the unknown value(s).

1.
10

6 Amps

? V



x

Answer =          

2.

Volts

Fill out this 

triangle now

Layout your workings on another page.
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Determine the total current flow if 

the Supply Voltage ( VS ) is:

a. 10 Volts

I =

b. 50 Volts. I =
4. Four resistors are connected in series. Each resistor has a resistance of 15 Ohms. If the supply Voltage is 100

Volts, what is the current drawn from the supply and what Voltage Drop would be measured across each
resistor. Draw the circuit below ( neatly ) and show on it your calculated answers.
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Ohms Law. 

Work Sheet 3A

Hard Series calculations.

Determine the ? value(s).
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Layout workings on another sheet
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